
   T6450000-00

  T6-450000-00

T6-45
BESSRC-CAT

1.5 M X 3.6 M
DIFFRACTOMETER TABLE

ASSEMBLY

     SEE PARTS LIST

.1 [2.5]

.01 [0.25]

.005 [0.13]

.25°

125

1:8

E1 1

A NYMAN 4/27/98

J. BARRAZA 5/22/98

NYMAN/BARRAZA4/27/98

J. BARRAZA 5/22/98

D. SHU 5/26/98

T.M. KUZAY 5/26/98

1 T6-45 TABLE TOP SEE DETAIL 1T6-450001-00

2 T6-45 SUPPORT PLATE SEE DETAIL 2T6-450002-00

3 T6-45 LOAD MODULE MOUNTING PLATE SEE DETAIL 4T6-450003-00

4 T6-45 LEVEL PAD SEE DETAIL 3T6-450004-00

5 T6-45 CLAMP PLATE SEE DETAIL 16T6-450005-00

11 T6-45 PLATFORM ASSEMBLY SEE DETAIL 1T6-450100-00

12 T6-45 CARRIAGE STAGE ASSEMBLY SEE DETAIL 1T6-450200-00

13 T6-45 SUPPORT SHAFT ASSEMBLY SEE DETAIL 2T6-450300-00

14 T6-45 LEAD SCREW ASSEMBLY SEE DETAIL 3T6-450400-00

15 T6-45 LEVEL MOUNT SEE DETAIL 3T6-220102-00

16 T6-45 LEVEL PICK-UP BUSHING SEE DETAIL 3T6-220103-00

18 LOAD MODULE (4 PER SET) 14K12NL

19 GUIDE RAIL 21675-204-31, 3540 mm

20 GUIDE RAIL 21675-204-31, 1700 mm

21 RUNNER BLOCK 161671-214-10

(144.00 [3657.60])

(60.00 [1524.00])

(8.00 [203.20])

(29.82 [757.31])

1

2

4

3

11

5 13

12

14

16

15

1820

19

NC = NORMALLY CLOSED TERMINAL
C = COMMON TERMINAL

NOTE: THE LIMIT SWITCHES ARE PROVIDED WITH TERMINALS FOR
SOLDERING. PLEASE USE KESTER 60/40 TYPE SOLDER. ALSO,
USE PVC INSULATED, 80° RATED, 18 GAGE STRANDED COPPER
WIRE. DO NOT USE IRRADIATED PVC INSULATED WIRE.

RED

GREEN/WHITE

PIN #

SLO-SYN MOTOR WIRE CONNECTIONS TO CONNECTOR  26

WHITEJ

MICRO SWITCH  24  WIRE CONNECTIONS TO CONNECTOR  26

PIN #

X
U

T
W

---
---

C
NC

CW LIMIT

NC
C

---
---

CCW LIMIT
TERMINAL

B

E
F
H

C
D

A

BLACK

WHITE
BLACK

GREEN

RED/WHITE

TERMINAL

WIRE COLOR

WHITE

RED

WIRE COLOR

BLACK
WHITE

8 T6-45 SENSOR SPACER SEE DETAIL 2T6-450008-00

7 T6-45 SWITCH PLATE SEE DETAIL 2T6-450007-00

6 T6-45 GUIDE SHAFT CLAMP SEE DETAIL 8T6-450006-00

21

6

7

8

25 SENSOR   250 mm STROKE 1HLP 190/BC/1/250/10K

24 LIMIT SWITCH 2111SM1-T

23 PILLOW BLOCK 4SPB-32-ADJ

22 GUIDE SHAFT 2.0 O.D. X 32.25 LG. STAINLESS STEEL 460 CASE CLASS "L" SHAFT

22 23

24

25

26 CONNECTOR BODY 100-8016-020-000-601

27 CONTACT 1260-8017-03-13-300-339

38 37
41 .25-20 X .75 SOC HD CAPSCREW STAINLESS STEEL 350

41

44 .25-20 X 1.25 SOC HD CAPSCREW STAINLESS STEEL 44

44

45 .38-16 X 1.25 SOC HD CAPSCREW STAINLESS STEEL 48

45

46

46 #2-56 X .38 SOC HD CAPSCREW STAINLESS STEEL 8

47 #2 FLAT WASHER STAINLESS STEEL 4

47

49 #6-32 X .50 SOC HD CAPSCREW STAINLESS STEEL 4

49 41

50

50 .5-13 X 1.25 SOC HD CAPSCREW STAINLESS STEEL 12

44

44

51

51 .25-20 X 1.00 SOC HD CAPSCREW STAINLESS STEEL 36

53

53 .31-18 X 1.25 SHLDR SC W/ NY INSRT STAINLESS STEEL 391264A544

51

41

55

45

4636

36 #2 LOCKWASHER STAINLESS STEEL 4

44

37 M8 X 25 mm SOC HD CAPSCREW STAINLESS STEEL 32

38 M8 X 40 mm SOC HD CAPSCREW STAINLESS STEEL 32

40 39 27 26 17

39 #2-56 X .50 FILLISTER HD MACH SC STAINLESS STEEL 4

40 #6-32 X .38 SOC HD CAPSCREW STAINLESS STEEL 2

17 T4-31 CONNECTOR BRACKET SEE DETAIL 1T4-310001-01

(33.44 [849.39])

43

42

43 M 5 HEX NUT STAINLESS STEEL 2

42 M 5 FLAT WASHER STAINLESS STEEL 2

AND ARE FOR REFERENCE USE ONLY.

ALL DIMENSIONS SHOWN IN [ ] ARE MILLIMETERS

NOTES:

1 AEROGO, INC
1170 ANDOVER PARK WEST
SEATTLE, WA, 98188-3909
PHONE: (800) 426-4757
FAX:   (206) 575-3344

1

2

2

2

2 STAR LINEAR SYSTEMS
9432 SOUTHERN PINE BLVD.
CHARLOTTE, NC. 28273
PHONE: (800) 438-5983
FAX:   (704) 525-2808

10

4

3 WINFRED M. BERG, INC
499 OCEAN AVE.
EAST ROCKWAY, NY 11518
PHONE: (516) 599-5010
FAX:  (516) 599-3274

4 BERRY BEARING CO.
1223 N. BROADWAY
JOLIET, ILL 60435
PHONE: (815) 723-3446
FAX:   (815) 723-6694

5

6

5 NEWARK ELECTRONICS
625 PLAINFIELD RD.
WILLOWBROOK, IL 60521
PHONE: (630) 654-8250
FAX:   (630) 654-8270

6 PENNY + GILES CONTROLS INC.
163 PLEASANT ST.
ATTLEBORO, MA 02703
PHONE: (508) 226-3008
FAX:   (509) 226-5208

282930

31

28 FLEXIBLE COUPING .38 I.D. 1SHSC-16-.38-.38

29 PILLOW PLOCK 2BC9-5

30 SHAFT .38 O.D. X 35.50 LG 1S6-360

31 HAND WHEEL PLASTIC 3KHJ-10

48 #10-24 X .75 SOC HD CAPSCREW STAINLESS STEEL 4

48 32

32 CLAMP .44 I.D. 2CL7SS

7

7

7 ELCO CORPORATION
HUNTINGDON INDUSTRIAL PARK
HUNTINGDON, PA 16652
PHONE: (800) 653-3526
FAX:   (814) 643-0426

8

8

9

9 REID TOOL SUPPLY CO.
2265 BLACK ROAD
MUSKEGON, MI 49444-2684
PHONE: (800) 438-0421
FAX:   (800) 438-1145

3

8 SERVOMETER CORP.
501 LITTLE FALLS RD.
CEDAR GROVE N.J. 07009-1291
PHONE: (973) 785-4630
FAX:   (800) 785-0756

33

8 33 SET SCREW COLLAR 1CS-40

51

34 54

52 1035

35 .38 FLAT WASHER STAINLESS STEEL 16

52 .38-16 X 1.0 LG HEX HD CAPSCREW STAINLESS STEEL 16

10 T6-45 TRACK ROLLER GUIDE SEE DETAIL 4T6-450010-00

54 .63-18 NUT STAINLESS STEEL 4

34 TRACK ROLLER 4CR-24

9 T6-45 TRACK ROLLER BLOCK SEE DETAIL 4T6-450009-00

4

3

9

55 .38-16 X 1.50 LG SOC HD CAPSCREW STAINLESS STEEL 8

10 THOMSON IND. INC.

PORT WASHINGTON, NY 11050
PHONE: (516) 883-8000
FAX:   (516) 883-9039

(15.75 [400.05])

3.75 [95.25]

129.75 [3295.65]

3.75 [95.25]

(22.44 [569.98])

9.0 [228.60] TRAVEL

24

(73.50 [1866.90])

(6.75 [171.45])

18.0 [457.20] TYP

(61.0 [1549.40])

11 MCMASTER-CARR
P.O. BOX 4355
CHICAGO, IL. 60680-4355
PHONE: (630) 833-0300
FAX:   (630) 834-9427

11


